Boam M16x40 MawuHa kommyHanbHaa wyiemka MK454

Matika M16
Boam M12x40 Walba 16.65

\\' é‘@ s Bonm M16x40
\'t_““‘ ‘- ' ylalika M16
' aliba 16.65I

MK454.04.000P

Tatika M12
Laliba 12.65T.
boam M 12x40
alika M12 borim M8x16
aliba 12.65T. ali6a 8.65
/KYH 01.426
MK454.05.000 .'

KUJ-1,5.03.050

MKO06.00.100¥YH

MK454.01.000
Ueno Mp-25.4-6000

Tatika M10 3eeHo C-p-25.4-6000

Ualba 10.65I
[1KY-0,8.01.405 L/aiibs

MK454.00.803M-2 wm.



KVH 00.6235 MK454.00.603M

MK454 -Tucm?2

./MK454 00.803M-2 wm.

:' bonm M16x40

ey —— { atixa M16
o atiba 16.65T".

MK 07.00.000

MK 05.00.000

K 00.000Y



MK454 Jlucm3

10.016.6000-25.04C
10.016.2000-25-54C

ratika M10
Boam M10x40

1lInoHKa 2-8x7x 32




MK454.00.000 MamuHa KOMMYHAJILHAA IIETKA

O6o03HaueHue HaunmenoBanue cOOpOYHBIX €AUHMUII, Konuyectso, [Ipumeuanue
neraieun T
MK 454.01.000 Pama 1
K 00.000Y Koneco onopHoe 2
MK 06.00.100YH Kopnyc B cOope 1
MK 454.04.000 P banka npuBoiHas 1
MK 05.00.000 Onopa 1
MK 454.05.000 Koxyx mietku 1
MK 07.00.000 [IleTka 1
MKIII-1,5.03.050 Kpsika kopmyca 1
KVYH 01.426 ITnanka 1
MK 454.00.803M Brynka 2
MK 454.00.603M Och 1
KVYH 00.623b HInIvHT OpyXKUHHBIN 2
MS8-6gx16.58.019 TOCT 7798-70 bont 1
M10-69x40.58.019 TOCT 7798-70 bont 1
M12-69x40.58.019 TOCT 7798-70 bont 9
M16-69x40.58.019 TOCT 7798-70 bont 22
M10-6H.5.019 TOCT 5915-70 [aiika 5
M12-6H.5.019 TOCT 5915-70 ["aiika 9
M16-6H.5.019 TOCT 5915-70 [aiika 22
2-8x7x32 'OCT 23360-78 [Imonka 1
8.65I.019 'OCT 6402-70 [ITaii6a 1
10.651.019 TOCT 6402-70 [ITaii6a 4
I1KV-0,8.01.405 [ITait0a 4
12.65I'.019 TOCT 6402-70 [ITait0a 9
16.651'.019 TOCT 6402-70 [ITait0a 22
[1p-25.4-6000 'OCT 13568 n=55 Henb (L=1397Mmm) 1
C-I1p-25.4-6000 'OCT 13568-75 3BEHO 1
10.016.2000-25.04C Ban xapnanHbIi 1 s TpakTopa MT3,

TS454




MK 454.00.803 Jm

Brynka

10.016.6000-25.54C

Bas kapanHssblii

Jus TpakTopa Jm454




